3alura Kaprepa
1.0034.00
Honda Accord



3amura 1.0034.00
IIpuMeHsieMOCTD: Honda Accord 2004 -

YCTaHOBKA 3aIIIMTHI.

\ 1. YcranoBka nepeHUX KPOHIUTEHHOB.
Mo Yuciao MoiHocTh KIIII A
IHpHKATT O0BbeM ABHIaTENsA CM3 g
IMJIMHIPOB Jl.c. A . .
LX/EX-V6 6 240 M/A 2097 A e 3aKpenuTh KPOHIITCHHBI (MPaBbIi,
DX/LX/EX 4 160 M/A 1997 HeBBIﬁ) Ha TPaHCHIOPTUPOBOIHBIX
npoymuHax 6onrom M10x35 u
KoMIIeKTHOCTD: IUIAHKOW TPAHCIIOPTHPOBOYHOI .
No
n/n HaumeHnoBanue Oo6o3HaueHHe KoauvecTBo IIpumeuyanue
1 | Hoamou 1.0034.00 1
2 | lepexHuii KpOHIITEHH 098 2
3 | 3anumit KpOHIITEHH 097 2 2. YcTaHOBKA 3a/IHETr0 nmpasoro
4 | Inasxa 016 2 KPOHIITCHHA.
5 Il1anka 070 2 e  OTBUHTUTH BUHT KPETUICHUS
TPaHCIIOPTUPOBOYHAS KOJKyXa.
6 | bonr M10x25 4 e 3aBecTH IUIAaHKY NTOBEpPX OaJKu.
7 | boar M10x45 2 .
s Thom S 10x120 1 e 3akpenuTh KPOHIITEHH OOITOM
9 | bonr M10x130 1 M10x130.
10 | 111aii6a 10 8 e BuHT KpeIieHus Koxyxa
11 | AmopTHzarop 5 3aBUHTUTE.

Cxema cOOPKH 3alUTHI

3. YcraHoBKa 3a/1Hero JieBoro
KPOHIUTEHHA.

e 3aBecTH IUIaHKY NOBEPX OalKU.
e 3akpenuTh 3aJHUN KPOHIUTEHH
6onrom M10x120.

4. YCcTaHOBKA 3aILUThI

e Ha xpoHmITElHAX 3aKpENUTh
3amuty 6ontramu M10x25 u Bce
TOYKH KPETLJICHUS 3aTSHYTh.




